SM7THE7TH 2 0 BHIT
B2 TESEEERTEE(REH) REER

IZNETHREFEHEZRS
E N
X4y YEHEEEE | BEEK TEHEE W BE R
9, 384 A 5, 855 A 3, 529 A 62. 39 %
YO B EE 1,892 A
% BB AT EE 3, 993 A
FTEEREE 10 A
10, 064 A 6, 051 A 4,013 A 60. 13 %
% oH B EH 1, 520 A
LS B R AT R EE 4,516 A
FTEEREE 15 A
=10 19,448 A 11,906 A 7, 542 A 61. 22 %
£ 4+
X4y Y AEHEE | BREEK THEERK BER
) 3 A 2 A 1A 66. 67 %
= 3N 0 A 3 A 0. 00 %
=18 6 A 2 A 4 A 33. 33 %
& &t
X4y YEHEEEE | #EEK EHEEW BEs
5 9, 387 A 5, 857 A 3, 530 A 62. 39 %
= 10, 067 Al 6, 051 A 4,016 A 60. 11 %
=1 19,454 A 11,908 » 7, 546 A 61. 21 %




SM7THE7TH 2 0 BHIT
B2 7THEREERTE RS (AHIRE) BREKER

IZNETHREFEHEZRS
E N
X4y YEHEEEE | BEEK TEHEE W BE R
9, 384 A 5, 855 A 3, 529 A 62. 39 %
YO B EE 1,892 A
% BB AT EE 3, 993 A
FTEEREE 10 A
10, 064 A 6, 051 A 4,013 A 60. 13 %
% oH B EH 1, 520 A
LS B R AT R EE 4,516 A
FTEEREE 15 A
=10 19,448 A 11,906 A 7, 542 A 61. 22 %
£ 4+
X4y Y AEHEE | BREEK THEERK BER
) 3 A 2 A 1A 66. 67 %
= 3N 0 A 3 A 0. 00 %
=18 6 A 2 A 4 A 33. 33 %
& &t
X4y YEHEEEE | #EEK EHEEW BEs
5 9, 387 A 5, 857 A 3, 530 A 62. 39 %
= 10, 067 Al 6, 051 A 4,016 A 60. 11 %
=1 19,454 A 11,908 » 7, 546 A 61. 21 %




